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Sociology differs from common sense in that :

(A} it focuses on researcher’s own experience

(B) it makes little distinction hetween the way wora i« and the way it ought

to bo

(C) its knowledge is accumulated fronn many @fferent research contexts

(D) it is subjective and biased

Sociology 1s characterized by a perspective that places e in e
foreground.

(A) individual (B) unique social evenis

(!} soeial interaction 1 culture

Whe was Comte's mentor ?

(A) Montesquicu (B) Morgan
(1) Baint Simon (M; Robert Redfeld

The principle of natural selection Wwas first applied in sociology &y

(A) Herbert Spencer (B) Radcliffe Brown
(C) Von Weise (D) F. Tonnjes
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5 Whe said, “culture 18 social heritage” ?
{A) Brown and Selznick (B) Bicsenz and Biesenz
€y Gillin and Gillin (D) Park and Burgess

6. The book The theory of Social Structure’ is authored by :

(A Levi-Strauss (B} AR. Radeliffe Brown
() S.F. Nadel ™ B. Malinowski
7. Who has given the concepl of ‘status set’ ?
(A) R.K. Merion ' ' (B} K. Davis
() R.M. Maclver 1 B, Durkbeim
8, (onsider the following stateraents :

Assertion (A) : Institutions are Associglions.

Reason (R) : Institutions are Abstract.

Clodes -

(A) Both (A) and (R) are true and (R) 18 ihe correct explonssms LA
(8) Both (A) and (R) are true but{R) is not the correet oxpiimae-f (A)

(C) (A) is true but (R) 1s falwe

) (A) is false but (R} is true
AP(SOCIOLOGYHCC)-2014 4
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Q. Who among the following describes socicty as “sul generis’ 7
(A) TRadehiffe Brown (B) Malinowski
(Y E. Durkheim . (D) R. Benedicl,

10.  Status group according te Max Weber, is characterized by :
{A) wcecupaiion {B) educational backgrousns
(C) life style D) family background

11.  Which are the source/sources ol social chunge in the following ~
(A)  Invention (B] Discovery
() Diffusion i3y All of these

12. The result of social interaction is !

(A social stratification (B} ‘social value
(0 social process (D) sociul status

13, The base accepted by Karl Marx is the lormalion of class =

(A) religious (B) =odal

(" ecubiural (D) econonic

APBOCIOLOGY XCC)-2014 &
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14 Which of the following is contradictory of sceinl stratification ¥

(A) BEguality (B) Digsomilarity

(3} Diversity (Y Imequality

35.  The process of wternalising the culture of society 1s called :

(&) diffusion (R} enculturation

(¢ evolution (1) acculturation

16,  The three principal divisions of sociology, according to Durkhess

(A) socisl morphology, sociul physiology and penerd! socigloss
(R1  social moerpholegy, social psychology and general sociolos

() woeial status, social dyna mics and gemeral seciology

(D) none of the above

d nee

17.  Who hus classified social groups into territorial group an

group ?

(A) Park and Burgess (B) Gillin and Gillin

(7 Charles A. Bllwood (@ D. Miller

ARBOCIOLOGYHEC)-2014 A
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I8. Radcliffe-Brown’s first ethnographic study was on the :
(A) Nicobar Islands (B) Ardaman Islands
(C) Pacific Islands (D) Jersey Islands
18. Who has given the concept of ‘functional alternatives’ ?
(A} Talcott Parsons (B) Robert K. Merton
(C) Albert Cohen (D) Emile Durkbeim
20. Who regards deviance as functional for society ?
(A) Albert Cohen . (B) Robert K. Merton
(C) Emile Durkheim (D) Radcliffe Brown

21. Mead had talked about four stages of actions. These are impulse, perception,

mainpulation and :

(A) consummation (B) gestures

(C) consciousness (D) symbols
29.  Symbolic interactionism emphasizes on :

(A). culture

(B) external determinants of behaviour

() the structural units of society

(D) the subjective process
AP(SOCIOLOGY)XCC)-2014 10
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28, HManch the following with their authors/tnnkers and chaose the correct answer
from the cndes given below

Statements Anthors/thinkers
{13 Seoeial sbructure is a modnl (£ Radcliffe Brown
behind reality
(27 Social structura is a realisy {77) Lewi-Strauss
itmelf
(31 A social eystem is a syxiem (#5dy S.F. Nadse!l
of social action
(4) Function is the contribution G} Talcott Parsons
which iz 2 partial activity

rnakes to the totzsl activity

Codes |

(1) (23 (:3) (4)
(A) (i) (i} (3w (@
(B} (@ () (225} £
() () (i) () @)
(D} (1) (zv) (i} @)

24 HKar]l Marx'y histerical materialism means |
{A) historical evolution of matter
(3} economic interpretation of histery
(C) Thistoricsl phenomena can be reduced to matter

(D) historical conscivusness i 3 pre-reguisite for material development
AP(SOCIOLOGYHCC)-2014 12
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5. According to Karl Marx, which one of the following is not a dimension of

alienation ?
(A) alienation from production (B) alienation from labour
(C) alienation from nature (D) alienation from self
96. Who has talked about ‘decomposition of labour’ 7
(A) Karl Marx (B} G. Simmel
(C) Coser | (D} R. Dahrendorf
97 R. Dahrendorf has only talked about :
(A) socialistic society . (B) industrial capitalism
(C) modern society (D) post-industrial society

98  The book on ‘Phenomenclogy of the Sacial World® is written by :

(A) Edmund Husserl (B) Max Weber
(C) Karl Manheim (D) Alfred Schutz

. A PR PR 08 have explained the duplicity of people’s socially constructed
reality

(A) Peter Berger and T. Luckman
(B) Karl Marx and Max Weber
(C) Karl Manheim and E. Durkheim

(D) E. Husserl and A. Schutz
APSOCTOLOGY)CC)-2014 14
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31.

32.

33.

34.

ceresermnenisiannnneessnaeneanannss 18 the field of inquiry that seeks to understand the

methods people employ to make sense out of their world.

(A) Symbalic interactionism (B) Phenomenology

(C) Ethnomethodology (M) Dialectical method

Name that sociologist who suggested that specific individual's behaviour is

regulated by means of ‘Surveillance’ :

(A) M. Foucault {B) T. Parsons

(C) J. Derrida (D) A. Giddens

Who has develeped the concept of “Structuration’ 7

(A) Jacques Derrida (B) Pierre Bourdieu
(C) Anthony Giddens | (1)) Maurice Godelier

“Text is important for understanding the reality.” Who said this ?

(A) Pierre Bourdieu (B) dJacques Derrida

{C) Anthony Giddens (D) Michel Foucault

Pluralistic socicty shares the characteristies of ... society.
(A) capitalistic society (B) post-modernistic society

{C) industrial society (D) post-industrial society

AP(SOCIOLOGY)CC)-2014 16
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35.

36.

38,

39,

The role of statistical methods in the study of sociology is to increase

the -
(A) objectivity (B) sophistication
(C)  subjectivity (D) none of these

Collecting information for knowledge’s sake is teymed 8s :
(A) Applied research (B} Pure research

(0) Empirical research M) Valid research

Who said “social research is & systematic method of exploring, analyzing and

conceptualizing social Tife” 7

(A) P.V. Young (B) Lundberg
(C) Stevenson (D) Alport
The relisbility of data is not associated with :

(A) test-retest reliability

(B) split-half reliability

() internal-tonsistency reliability

(D) content-level reliability

Observation means to see things :

(A) with a purpose (B) without a purpese
(C) with many purpose (D) for fun sake

ADISOCIOLOGYNCC)-2014 18
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10.

41.

42.

43,

44.

Case study is a form of :

(A) Quantitative Analysis (B) Qualitative Analysis
(C) Objective Analysis (D) Statistical Analysis
Who developed Experimental Research in Sociology ?

(A) E. Durkheim o (B) J.S. Mill

(¢) KX Merton (M G, Lundberg

What is nof trve of diagnostic research design ?

(A) to investigate fact

(BY to enquire about fact

(C) to formulate theory

M to seek solution of problem

When the list of questions is filled by the researcher himself, 1t is called :
{4) Questionnaire (BY Schedule

(C) Mailed questionngire (M Open questionnaire
Which is no# the aim of social research ?

(A) Selection of facts (B) Discovery of facts

(C) Verification of facts (D) Propagation of facts

Who said working hypothesis is the first step in scientific method ?
(A) R.K. Merton (B) P.V. Young

(C) G. Landberg (D) A. Comte

AP(SOCIOLOGYXCO)-2014 20
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46. Thematic and text analyses are used in :
(A) Path Analysis (B) Data Analysis
(C) Form Analysis | (D) Content Analysis

47. Match List T with List IT and sclect the correct answer using the codes given
below the list :

List 1 List 11
(Books} (Authors)
(1) Family and Kin in Indo- (i) K.M. Kapadia

European Culture

(2) Kinghip organization in (ziy T.N. Madan

India
(3)' Marriage and Family in . (@) Travati Karve
India

(4) TFamily and Kinship; A Study () G.S. Ghurye

of Pandits in Rural Kashmir

Codes :

(1) (2) (3) (4)
(A) (i1) (1) (1) (i)
(B) (£éE) (iv) () (12)
() (iv) (i) (¢} (2£)
(1) () (i1) {iv) {ii1)

AP(SOCIOLOGY)XCC)-2014 22
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18, Who has opined that Indian civilization has a specifie ideology whose com-
porients are in a binary opposition to that of West : modern against traditional.
holism against individualism, hierarchy against equality, purity against

pollution, status against power etc. 7
(A) Louis Dumont (B) David Hardiman
(¢) N.X. Bose " (D) GS. Ghurye

49,  Who is of the view that caste and untouchability do not let Hindus act as
a community ?
(A) David Hardiman (B) Louis Dumont
(C) B.R. Ambedkar (D} M.N. Srinivas

50. Provisions for divorce among Hindus are provided under Hindu Marriage Act

of which year 7
(A) 1955 (B) 1956
(C) 1961 (D) 1873
51. Which are t.he.worl.;s of G.S. Ghurye ?
(I) Tribal Heritage of India
(I} Cities and Civilization
(III) Culture and Society
(V) Indian Sadhus
Qelect the correct answer from the codes given below :
(A) (IV) only (By (I), (I), (IV)

(C) (D), (I, (Iv) | (D) (1), (I}, (IOD), (IV)
AP(SOCIOLOGYNCC)-2014 24



48,

49.

5.
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52.

D3

55.

Which theorctical perspective is based on the view that liberty is neither
received as a gift; it has to be fought for self-elevation s not achieved by

the blessings of others but by self-struggle ?

(A) Marxian (R) Structural
(C) Subaltern . (1)) Civilizational

The Dowry Prohibition (Amendment) Act was passed in which of the following

years 7
(A) 1963 . {(B) 1965
(Cy 1984 (D) 1961

“Eyven change in Indian society can be understood by studying its traditions.”

Who has argued this ?
(A) Radha Kamal Mukherjee (B) D.P. Mukherjee
(C) M.N. Srinivas D) S8.C. Dube

Who has argued that ‘an empirical sociology of Indian society is not

possi'ble’ ?
(A) G.8. Ghurye (B) M.N. Srinivas
(C) AK. Saran (D) S.C. Dube

Who among the early sociologists of India intreduced a down-to-earth

empiricism in Indian seciology and social anthropology ?
(A} G.8. Ghurye (B) R.K. Mukherjee

(C) A.XK. Saran (D) None of these

AP(SOCIOLOGYXCC)-2014 26
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57. Mateh List T with List 11 and
List 1
{Authors)

(1) McKim Marriot
{2) MLN. Srinivas
(3) B.R. Chauhan
(4y S.C. Dube
Cadles

(1) (2) | (3)
(A) (1} () (42)
(B) (i) (iz) (i)
() (142) (2] (f2)
(I (iv) (152) (2¢)

mark the correct code given below :
List 11
(Books)
(i} India’s Village
(#f) Indian Village
(i) Village India

(i) A Rajasthan Village

(io)
(i)

(i)

58. Who defined peasants as ‘small agricultural producers, who, with the help

of single equipment and the labour of their families, produce mostly of their

own consumption, direct or indirect, and for the fulfilment of obligations to

holders of political and economic powers' 7

(A)

(C)

A. Beteille

AR. Desai

AP(SOCIOLOGY X CC)-2014

(B} T. Shanin

(D) A.V. Chayanor
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57, ¥ I & ¥ II B ghfes =ifom ot 9 o M2 =8 @ =8 =2 71 o
Fifay

qa 1 T 11

(erae) (u)
(1) AfFm dfoe | () sfzam oo
(2) W it Giy ¥ Tae
(3) WoR. dem (if) Tadrs gfem
(4) THH. T (v) T TR fae
e

(1) (2) (3) (4)

Ay W (i) (3i) (iv)
(B)  (if) (itf) (i) (i)

(C) (z1z) (1) (i) (£1)
(D) $35)] (£52) (ir) (i)
58. Tow frmel & T8 9 8 somsl # w1 § sRefee fm &, Y maen seewt

AR 79T UGN P TS B o949 ¥ Ws W wwww wY ¥ 9 a9y Sudm &
fou IR uoifas qm s wfd uwl @ wf oo afe gmoEm E 2

(A) U 4T (B) &. wmim

(C) THR. &&E - (D) wH. 9w
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9.  ‘Rurbaniem’ is a term that is related to the study of :
(A) Villages
(B) Town and Cities
{(C) Rural areas
(M Life-styles of rural urban people

60. Who is called as the father of “Green Revolution™ in India ?
(A) M.S. Swaminathan (B) P. Chidambaram
() M.N. Srinivaé () Manmohan Singh

61. In which of the following sequences are ‘Demographic Transitions’

traditionally associated ?
(A) High fertility, low mortality, high population growth
(B) Low mortality, low mortality to high fertility

(C) High fertility, high mortality to low mortality and low fertility, the later

lagging behind

(D) Low fertility, high mortality to low fertility and low mortality with mor-

tality lagging behind

62.  Which of the following concept does not figure in Malthusian theory of
Population ?

(A) Arithmetic progression (B) Positive checks

(C) Stable population (D) Prevenlive checks
AP(SOCIOLOGYKCC)-2014 30



n9.

&)

G1.

82.

ITEET 4 weivE Thue wwes @ Etig § 2

(A) T

(B) FW&1 FE ¥R

(C) Tmdor & &

(D) wrv-TEE HE W sfeEs w5 el
mﬁ‘zﬁawﬁ’%ﬁﬁmﬁ?

(A) TAUE @S (B) . fagwan

(C) . it () wre fz

wifmmE wwav FeEfafen § fem agEw & wAfe W 8§ gag am 2

(A) 3= voTa, P e, 3= e gfs

(B) =1 acian, oo e © 5= w9 9%

(C) 3= WormalL == Aaa B fre wedm oo B woeem 9w, 998 e g
o I %

(D) =1 woFF, 350 wea # 5 v eg B nefw fawd oem 0e w©
A ¥

e BN e Sem § fagrm O frefatan # 8 et aeueon ofsf

T E 7

(&) sfETTTHY SE (B) HwTEEw U

(€) fer s=w@n (M) FEREE Oy
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The number of person per square kilometer is defined as

(A) Population Adengity

() Population growth

(B

)

Population concentration

Population index

Mateh the items in List | with (he items in List TT snd choose the right answer

from the codes given below :

List I

(1) Crude Rate

(2) General Fertility Rate

(3) Infant Mortality Rate

(4) Birth Rate

Codes :

(1) {2)
(A) {iv) (z22)
(B3 (@iz) (z)
(C) (ii) (i)
1B} (£) (i)

SOCIOLOGYXC()-2014

(33
(i)
{(zv)
{i1)

({8

()

(3}

{#i1)

(i)

(4}
@)
{#t)
@)

(zu)

List 1T
The number of Hyve births per 1000
population in a given year

The number of deaths of babies
under age 1 year per 1000 live
births in a given year

The number of live birthy per 1000
women in 15—44 or 15—49 years

in & given year

Rate of any demographic event

computed for an entire population



65, =uEed w1 wem ufE on frerdEe Gam ofivfie st s % 2

(A) SE=T TN

() T 8e 9is

{B)

(0}

TG AT

64, T 1 W ue @ g U w1 w6 % 99 Hend oK S A el § wd awm

#ifee
e 1
B2 G

(13

2y Jam= Yome 7l

3 T gey W

(4) T
m .

(1)
(&) (im0}
(8) (46)
() (&)
(1) (i)

(2)
(z¥)
()
(iv)

(21E)
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(3)

(3£}

(&)

{2z}

(&)

{£)

(if)

(28}

{2es)

(4)
(&)
(&)
)

()

o=t 11

for ™t F vR 1000 wERET T
Fifaw S = W2

G T ad { 3 1000 S0 W
T AW A =9 79 B T e 9w
A

U & ad § 1544 71 15—45 94
= 7w ¥ ufa 1000 viEens & e
FH hl wEm

EEL It ators i AN

P70,



(o)
5’,}:

&7

‘Population Pyramias’ reveals the fol]nmfing intormation
(@) dependency burden

(£)  hirth end death rate

¢y sex ratio of différernt ages

f4) approximate life expeetancy of birth

¥rom the abeve, find the combination {or vorrect answer |
{A) {a) and (b} but not (r) end (d)

(B Al (), (), (¢} and @)

(G () only but not (5 () ana (@)

(3 ey and (¢} but no‘é. (2} and (&)

Whe iz in developing the theory of teviancs utilized éxplanatory factors that

are typical of fuuctional anaslysis, pamely cultural goais and instutionalized

norms 7
1A) K. Durkheim {B) R.K. Moerten
() T. Parsons (133 . Weber

The Domestic Violenice Act was passed ia which of the following years ?
{A) 1998 (B) 2001 |

(C) 2004 (1) 2005

The tcr.m_ White-Collar Crime’ was first introduced by !

{A) (. Barness - | (BY E. Sutherland

() A. Cohen (I E. Durkheim
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66.

B7.

68.

‘Feuen # fofgs' § fafes Smert med 2 .

(@) qUiEm T AT

(b) T T T 7T

{c) hfﬁm g W AN 3

() W= S GUE A SN HsE

avdem ¥ wé wot % Rw wEET W 9T Wi

(A) () 7 (b) AFEA () W (d) T |

(B) T (q), (d), (&) 79 (d)

() B @) @A @), ) 79 (d) TE

(DY (e) o (d) B (o) 3 &) 7

ey e Tigem W1 fGETE @R WEY SNIEATE RTGHL W WAlHE
fovdmn = fadoa-ges ¥ agh, e we o gt arEE W oI
(A) 3 TEM (B . W

() & = (D) TH FEC

ma fEm atafy faw g § o g 7

(A) 1998 (B) 2001

(C) 2004 (D) 2005
‘TRed aTRIE' We FEyAw fReR weRla fEm o 2
(A) . =TE : (B) ¥ wEwvE
(C) T e (D) % gEm
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69,

70.

72.

73.

Nepotism, favouritism and misuse of power are all examples of :
(A) Corruption (B) Ignorance
(C) Conflict (D) Social Solidarity

According te whom “societies characterized by tos much or too little regulation

or infegration will have high suicide rates” ?

(A} T. Parsens (B} M. Weber

(C) E. Durkheim (D) R.K. Merton
‘Staying Alive : Women Ecology and Survival in India’ is written by :
{A) Vandana Shiva _ . (B) Ramchander Guha
(C) Medha Patekar {DW' Alvin Toftler
Which is not an indicator of social development ?

(A) Improvement in health

(B) Improvement in quality of life

(C) Improvement in education

(D) Increase in per capita income

“World System Theory” of development explains the relationships between
the ‘developed’ and ‘developing’ countries, Who among the following gave “World
System Theory of development’ ?

(A) Gunnar Myrdal (B) 1. Wallerstein

{(C) MXEK. Gandhi (D) Amartya Sen
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&9,

71.

72.

73.

SE-StoER, YA o T/ & gEvEam W TEeE w7
(A) Y=EE & (B) ¥gma #
(C) =wd (D) STiaE Yogm

T wmud ¥ e “Tom el A swfus o we g fhes o wEeeor d
T 8 oeasen # & ot T 2

(A) A uRER (B) TH.

() 3. gEm (D) M ¥3H

" ¥R ; T, et e waEnan 1 oifewm B g feelt ¥
(4) == T (B) WrEE TR

(C) FW WEF (D) wwfEA AHER

W e = g9s ShE W e 7
(A) wReT T oEtE

B) S w1 e # gl

(€y Tz ¥ gi%

(D) Wa =R omg ¥ g%

faam 1 “acE fomm ot ol au faamvis 29 & 9 = 5 o=
Fom & | Frafefas 4 € oo faam =) oo frey o 3% Saoei=! wiames

wE?
(A) T ToEfe (B) o sfesls
(C) & Tt 1)) v ¥
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T What was the chapter aboui wornen which appesvad in the Sixch Pive Year

Flan ?

(A1 Women and Felfare Sehemes
(B} Women and Devalopment

(O} Women and Eduesiion

(0 Women and Health

72.  Ths classification of families Inte patoilineal and metrilines! is hssed on :

{A) Authority | {BY Succession
(%) Lineage {0} Residence

76.  Whieh of the follewing is an urban formal social organisstion ?

(A} Municipal Cerperation (B} CGram Panchayst
(C) Gram Babha (D) Panchayai Sariti

7. When & number of ethnic groups each with its distinetive cuiture exiat in

a society, i is best known asg

(A} & ditferentiated society {8} a plural society
() & mixed soviety D) & progressive society

78.  Polyandry is the form of marnsgs which implics :
(A) one man marrying several women
(B) ovne woman marrying several men
(C) cne woman marrying cne man and his brother

{D} one woman marrying one man and his friend

APSOCIOLOGY(CC)-2014 3



74,

76.

7.

78,

&ﬁda—q'cﬁwm'imaﬁ%aﬁﬁmﬁammmﬁamnmmaﬁm
a7 '

(A) wfeard e wegn A
(B) Wi ag T
(C) Wi au e

(D) Wi 74 e

ofier %1 fegenia M AEEwE o o )i €
(A) HiER (B) IwafaeEn
(C) 39 ; (D) Tam

ﬁnﬁ»mmmmm%?
(A) 1 (B) UMW wEEd

(C) T 9 (D) g gk

a fafver Jomm g o fafire Hepfoal & WY w40 @, 7 %

Lo il

Ay w B¥EET g (B) % e TAE
(©) w ffa T D) wh foreraeia A
agafa foam =1 @d ¥ .

(A) TF TEN W owg Al

(B) @.ﬁtmiﬁ‘@ﬁﬁm

(€ %ﬁtmgwa.mu@ﬁm |
D) T S & [E 9 IEF LW B WY auE
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9.

80,

81,

82,

83.

84.

Affinal and consanguinesus are types of :

(A} Kinshig (Bi Marriage

(C) Social Value (D) Family

Which Article of the Constitution abolished the practice of untouchability
(&) Article 17 (B) Article 14

(C)  Articlo 21 (D1 Article 55

In which district of Himachal Pradesh is Lamna Lake ?
{4) Lahaul-Spiti (B} Chamba

{C) Kinnaur (1)) Shimla

Which one of the fallowing bridges is on the Beas river ?
(A) Wangtu {8) Luhari

() Jhalera (1)) Psndoh

How much money has been recommended by the Fourth H.P. Finan:
Commission for the Urban Local Bodies for 2012-17 period ?

(A} 38248 crore rupses (B} 386.72 crore rupees
(Cy 406.67 crore Tupees - (I 488.95 crore rupees

Fyom the princely state Kangra sprang severul off-shoots. Which was its fir

oftf-shoot
(A) Guler {B) Jaswan
(C} Siba (D} Datsrpur
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81.

82.

83.

84.

Frare wEd Td TREES TEY W §

(A) AiERT = (B) faeme =
(C) I qoE & (D) °fEm %
dfaum & fea d9=k 7 3090 % HEME A ?

(A} #AT=% 17 (B) #g=m 1
(C) #HT=R 21 (D) =% 55
o e e wy & fey e 4 % 2

(A) - (B) =

(€) fa=m (D) v

Freffes § & S 9@ =W |/ W § 7
(A) T (B) et
(C) et (D) 42

ferram W ® faw aEm 7 yEA wyEm e % fau 2012-17 M F T
frat Ty 7 T & E 2

(A) 88248 Fig TH (B) 396.72 T FH
(C) 405.87 Fg T4 (D) 436.95 Fiz ¥

e foamen @ oin =% fowd Tl | T99 Tedl frwen S e & o6 ?
(A) TH ' (B) S

(C) faen (1) ARG
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85.

86.

B7.

88.

89.

Raja of which princely state called a meecting of the rvlers of Shimla

Hill States and some Praja Mandal leaders for the formation of Himachal

Pradesh 7
(&) Bilaspur (B) Dhami
10) Suket . (D) Baghat

With which of the following is Bakavang folk dance associated ?
(A} Sirmaur (B} Chamba
(C) Kinnaur (1D} LUna

Which person of Himachal origin published Sudarshan Chakra Patriku

around 1938-40 ?

(A} Yashpal {(B) Sudarshan

(€2 Inderpal (DY} Pandit Amar Nath

Which distriet of Himachal Pradesh was in news for caste-civide among students

during the mid-day meals ?

(A) Kullu {(B) Tilaspur
(CY Mandi (D) Sirmaur

In which district of Himachal Pradesh is Khurpan hydel power project ?
(&) Shimla (B) Kullu

(C) Lahaul-Spiti (D) Kinnaur
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86.

B8.

89.

fow framm & T 3 Tl foeer o2 & T AR wmE weETEY & TmE =
femmee wawl & T % A TeE gem ?

(Ay faemg (B) &
() T D) s9E

FEE T Fefate § F e A HEhe B 7
(A) TR (B) =0
(cy faen (D) =

eyt o i #1 1938-40 T W SR TE e 4@ S e b J Fe

T 7
(A) =y (B) T
(C) 3=A () disa 9eme

Fratfeld 4§ o drem o s SHwem sl 6 e w@y w1 oS

fom B W1 W WWIER O @1 7

(A) Feg (B) feTER
() =ust (D) fawn

oW W s o fevem ww & e A v 7

(A) forme (B e
) W - o e ) =R
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90.

91.

92.

94,

e fr & fRE R W TR w0 oma' sk @ S 2

(A) TrREE (B) =i
) TR . (D) FLAE

fewega 3fE T O § TEF F0 § 7

(A) = S . (B) wEwHl T
(C) wmer M) feis 1=
-2014%ﬁaaawm3m%mﬁmﬁm?%mm
qr 7 |
(A) TE W (B) I HEW
(C) I A8 | : (D) ®UST TH

m@sﬁmﬁﬁgmmﬁﬁsﬁmwm%wﬁ

T 2
(A 44.70 (B} 45.36
(C) 47.79 (D) 6h.28

(A) U & A (13) = & Tl
e I e o o e R e (D) =# % TTa

ﬁm%mﬁ2’014aﬁ?fmr§€aﬂﬁvf%mf@ﬂﬁ‘sﬁﬁ%ﬁﬁmmf€m}

(A) TR A (B) ==
() 30 (D) T
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6.  Where is the Headquarter of European Union ?

(A) Parig  (B) Berlin
(C) London (D) Brussels

897. Which country's old name was Southern Rhodesia ?
(A) Zimbabwe (B) Zaire
(2) Ethiopia (D) Taogo
98. What is the currency of Peoples Republic of China ?
(A) Yen | (B) Yuan
() Won (D} Som
899. Who is the Managing Direcior of IMF ?
(A) Jim Yong Kim (B) Christine Lagarde
(Cy Margret Chan (D) Peter Tomka

100. In the Gender Development Index of 2014 of UUNDP which one among the

following is the lowest 7

(A) India {B} Zimbabwe
(C) Rwanda (D) Mozambique
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6. Where is the Headquirter of European TUnion ?
(A) Paris (B) Berlin
(C) London (13) Brussels

97. Which country’s old name was Southern Rhodesia ?
(A} Zimbahwe (B) Zaire
{C) Ethiopia ) Togo

98. What is the currency of Peoples Republic of China ?
(&) Yen (B} Yuan
(€C) Won (13 Som

89. Who is the Managing Direclor of IMF 7
(A) Jim Yong Kim (B) Christine Lagardo
() Margret Chan (D} Peter Tomka

100, Tn the Gender Development Index of 2014 of UNDP which one among the

following is the lowest ¥
(A) India (B) Zimbabwe

(C) Rwanda (1)) Mozambique
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B, PR W w1 gEmee wE b 7
(A i (B) =iedd
(€ oA (D) 3w
7. fmémmmqmafmﬁmmm?
(A} formmss (B) =R
(C) el D) 2

8. dived fiufemes & = w7 5@ owm & 2

(A) ¥ (B) 731
@) = (D) =W

L HRTHUE. F Uy TRvE & § 7
(Ay = g fam (B) &iwaq ~e
€ wriE =F D) W S

0. I W 2014 F famafa fawm afva 3§ foaten § 9 S 2w =9

= ' 2
(A) T (B) fo=m=
(C)  wamgr (I s
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